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KOSPI -0.4 -1.6 1.2 -10.6 10.7 9.4 1.0 1.0 19 21 (o s PP
ENE -4.8 -0.8 6.8 3.0 9.1 8.3 0.7 0.7 55 58 43
SKE2= -7.5 -0.3 1.1 6.7 1.1 9.9 0.8 0.8 6.0 6.1 J /—-—-”-"k_ ‘/,__/—/
KT -1 -19 14.6 16.0 8.0 7.3 0.6 0.5 55 59 “ T
LGREZA -4.8 0.0 8.1 -2.8 8.0 7.3 0.7 0.7 4.8 53 40
AT&T -3.4 42 23 -1.5 7.2 7.3 0.8 0.7 75 6.6 36
Verizon -10.8 -11.2 -13.0 -12.6 8.6 8.2 2.1 1.8 56 57
T-Mobile -4.3 -5.8 12.4 6.3 433 20.0 2.1 2.1 0.0 0.0 32
NTT 19 6.5 16.5 19.2 12.2 1.3 1.7 15 3.0 32 28 i i i
KDDI 1.6 7.6 18.0 235 146 139 1.9 1.8 2.9 3.0 214 218 2112 224
Softbank -5.6 -55 4.0 -16.7 171 9.7 0.8 0.7 0.8 0.8 SKT 47.5% (+0.0%p WoW, +1.8%p MoM)
China Mobile -3.2 -39 -0.2 7.9 7.5 6.9 0.7 0.7 8.3 9.4 KT 42.4%(+0.3%p WoW, +1.4%p MoM)
China Unicom 18 26 78 57 6.1 54 03 03 78 92 LGU+ 37.6%(+0.0%p WoW, +0.6%p MoM)
: SA4I3A}, =0l 205 0|2
China Telecom -2.3 -45 0.3 8.9 7.9 7.0 05 0.5 8.2 9.8
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3%t A2t & Heo|Q =o|=0(Y EBITDA EV/EBITDA (tl) ROE (%)
(A=) (83h 9 2022E 2023E 2022E  2023E| 2022E  2023E| 2022E  2023E| 2022E  2023E| 2022E  2023E \
&= SKH2|Z 57,000 9.9 13.8 145 13 14 0.9 10 43 44 41 40 8.2 9.1
KT 35,800 7.4 20.4 21.0 13 14 0.9 10 43 44 32 32 76 7.8
LGREaA 14,000 48 11.4 11.8 08 0.9 0.6 0.7 2.8 29 35 3.4 9.4 9.8
o|= AT&T 189 135.0 1306 125.8 25.0 257 18.7 185 43.1 439 75 7.4 11.9 111
Verizon 463 194.4 136.6 139.2 324 339 223 233 494 51.1 7.0 6.8 252 228
T-Mobile 1231 1544 81.3 83.4 8.4 134 36 76 27.1 295 8.5 7.8 56 1.9
U= NTT 3,847 107.4 94.4 957 137 143 8.8 9.2 256 26.3 6.8 6.7 146 143
KDDI 4,335 77.0 421 423 8.2 8.4 52 54 14.0 14.0 6.4 6.4 138 135
Softbank 5,269 70.0 478 497 -14 10.3 44 6.8 44 15.7 491 139 47 6.9
== China Mobile 52.4 1455 1409 150.3 194 210 189 205 50.3 532 17 16 99 10.2
China Unicom 38 148 53.3 56.2 20 24 25 28 15.3 159 06 06 48 52
China Telecom 30 50.9 736 79.4 54 6.1 44 50 203 216 24 23 6.6 7.2
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